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(continued)


Target C-1 Extra Practice 2
1.
Fill in the blanks.

a)
Percent means out of 100, so 
[image: image1.wmf]3

3%=

.

b)
0.19 means 19 ____________________, so 0.19 = ____%.

2.
Fill in the blanks to convert each fraction to a percent. 

a)

[image: image2.wmf]1

4100

=

 = ____%  b) 
[image: image3.wmf]3

510100

==

 = ____%

c)

[image: image4.wmf]17

20100

=

 = ____%  d) 
[image: image5.wmf]93

200

 = 93 ÷ ____ = 0.____ = ____%

3.
Fill in the blanks to convert each percent to a fraction in lowest terms.

a)

[image: image6.wmf]4

100

80%==

  b) 
[image: image7.wmf]250

100

250%=

 = 
[image: image8.wmf]
c)
12.5% = 
[image: image9.wmf]1001000

==



 EMBED Equation.DSMT4  [image: image10.wmf]  d) 0.66% = 0.____ = 
[image: image11.wmf]10000

 = 
[image: image12.wmf]
4.
Complete the following table. The first row is completed for you. 

	Percent
	Fraction
	Decimal

	Example: 108%
	
[image: image13.wmf]108

100


	1.08

	a)
	
[image: image14.wmf]63

40


	

	b)
	
[image: image15.wmf]
	0.082

	c)
	
[image: image16.wmf]49

300


	

	d) 0.78%
	
[image: image17.wmf]
	

	e)
	
[image: image18.wmf]
	3.36


5.
Jeremy enlarged a picture. The length of the original picture is 8 cm and the width is 5 cm. The length of the enlarged picture is 10 cm and the width is 7 cm.

a)
What percent is the 10 cm length of the 8 cm length? Show your work.

b)
What is the area of each picture? By what percent is the area changed?

Extra Practice Answers

1. a) 
[image: image19.wmf] = 100  
    b) hundredths; 19%
2. a) 
[image: image20.wmf]1

==%

4100

25

25

  
    b) 
[image: image21.wmf]3

===%

510100

660

60


    c) 
[image: image22.wmf]17

==%

20100

85

85

  

    d) 
[image: image23.wmf]93

=93=0=%

200

¸

200.46546.5


3. a) 
[image: image24.wmf]4

==

80%

100

80

5


    b) 
[image: image25.wmf]250

==

250%

100

5

2


    c) 
[image: image26.wmf]===

12.5%

1001000

12.51251

8


    d) 
[image: image27.wmf]==

0.66%=0

10000

6633

.0066

5000


4. a) 157.5%; 1.575 
    b) 8.2%; 
[image: image28.wmf]8241

=

1000500


    c) 
[image: image29.wmf]1

16%

3

; 
[image: image30.wmf]0.163

  
    d) 
[image: image31.wmf]7839

=

100005000

; 0.0078  

    e) 336%; 
[image: image32.wmf]33684

=

10025


5. a) 
[image: image33.wmf]10

8

 = 1.25 = 125%
    b) Area of original picture is 40 cm2; area of enlargement is 70 cm2. The area of the 
        picture increased by 57.14%.
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